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Unit 6 Reivew .

Find the following information and graph each rational function: A
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Solve the following inequalities using a sign chart:
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Given the following functions, find all holes, asymptotes, and intercepts.
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(Transfermations )

Describe how the graph of g(x) is related to the graph f (x)= —1-
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12. How do you find the asymptotes (vertical and end behavior) of a rational function?
Nertical @ X-values that make Yhe denominator 0.
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— 13. Mary and some of her friends are thinking about renting a car while staying at a beach resort
for a vacation. The costfor staying at the beach resort is $300, and the cost of the
car rental is $220. If the friends agree to share the cost of the car rental. what is the minimum
number of people who must go on the trip so that the total cost for €ach person’js no more than

$350?
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4 14. A basketball team has won 16 games out of 23 games played, for a winning percentage

(expressed as a decimal) of g =~0.696. How many consecutive games must the team win to

raise its winning percentage to 0.750?
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